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Cevap: B
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Cevap: E
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Cevap: B
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Cevap: E
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Cevap: C

6.	 m + m + … + m = m.n  şeklinde bulunur.

	 n tane

O halde; 
	 (0,4)2 + (0,4)2 + … + (0,4)2	= (0,4)2.200
	 		 200 tane	 = .1 0 0

16 20 0 32=

Cevap: E

7.	 x  + 20
11    = 1  yazılabilir.

x = 1 – 20
11

x = 20
9
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 = 100
45  = 0,45  olur.

Cevap: C
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8.	 2,2.x = 5

44,44.x = a	 ⇒	 , .
, .

x
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5

		  4444
220 	 = a

5

	 	 220.a	 = 5.4444
		  220a	 = 22220
		  a	 = 101

Cevap: C

9.	 , ,xy
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xy
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xy000 00
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	 = 1000 + 100
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Cevap: B

10.	 2,5 = a – b4

2,5 = a b
4

4 -

4.2,5 = 4a – b
4a – b = 10
	 ↓	 ↓
	 3	 2	 →	 a + b = 5
	 4	 6	 →	 a + b = 10
	 5	 10	 →	 a + b = 15
	 6	 14	 →	 a + b = 20
	 ⁝

a + b toplamı 5'in katlarıdır.
Cevap: D

11.	 	 ,
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100    ⇒   x = 15

Cevap: C
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= 21   olur.
Cevap: B
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	 22x.y	 = 110
	 x . y = 5
	 1	.	5
⇒	 x + y = 1 + 5 = 6   olur.

Cevap: D
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	 ⇒	 4(ab)	= 7(ba)
	 		 	 40a + 4b	= 70b + 7a
	 		 	 33a	= 66b
	 		 	 a	= 2b

			  ⇒	 b
a 	= b

b2  = 2   olur.

Cevap: A


